
Top View

Bottom View

QTYDESCRIPTIONPART NUMBERITEM

1Assy Kit, Span Wire Clamp w/ 10 Hole Extender Connector, 11" Extender & 

Stabilizer, Alum

AK-1189-11-PXX1

4Nut, Hex 1/2"-13, Type 304 StainlessFS-1005-SS1-1

2U-Bolt, 1/2"-13 x 2-1/8" x 49/64" x 1-3/8", Type 304 StainlessFS-2507-SS1-2

4Lock Washer, Split, 1/2", Type 304 StainlessFS-4202-SS1-3

1Clamp Body, Span Wire, 1/2" Wide w/ Stainless Bushing, AlumSE-4064-M21-4

1Cable Bar, Span Wire Clamp, AlumSE-0462-M11-5

1Hanger, Extender Connector, 10 Hole w/ Stainless Bushing, 535 AlumSE-0539-M21-6

4Nut, Hex 5/16"-18, Type 304 StainlessFS-1001-SS1-7

4Lock Washer, Split, 5/16", Type 304 StainlessFS-4201-SS1-8

1Extender w/ Holes, 11" Long, AlumSE-0507-111-9

2Bolt, Hex Hd, 5/16"-18 x 1-1/4", Type 304 StainlessFS-2019-SS1-10

2Bar, Universal Stabilizer, 2" x 6", for 1/4" to 1/2" Dia Cable & 3/8" Hardware, AlumSE-4234-M21-11

2Bolt, Hex Hd, 3/8"-16 x 2-1/4", Type 304 StainlessFS-2010-SS1-12

2Nut, Hex 3/8"-16, Type 304 StainlessFS-1003-SS1-13

2Lock Washer, Split, 3/8", Type 304 StainlessFS-4205-SS1-14

2Bolt, Hex Hd, 5/16"-18 x 1", Type 304 StainlessFS-2006-SS1-15

1Pin, Clevis 5/8" X 2-1/4", StainlessFS-6000-SS1-16

1Pin, Cotter, Humped, 5/32" X 1.775", 304 StainlessFS-6100-SS1-17

1Bracket, Wavetronix Radar Mount, 3-Piece, AlumSH-0568-PXX2

Extender Length

OF

TITLE:REF:

PH: 405-340-3434
FAX: 405-340-3435
Edmond, OK 73013

www.pelcoinc.com 
PART NO.:

ASSEMBLY CUT SHEET

1 1 6/28/2021

Radar Bracket, Span Wire
SP-4156Twincrest Tech

B
DRAWN: DATE: CHECKED: DATE: REV: REV CHK'D:
KRB KAK 12/9/2021

DATE:
EDS 10/25/2021

This drawing is the property of Pelco
and is not to be used in whole or in part
without Pelco's written permission.

SHEET12/2/21 KRB
DATE:DATE:MFG ENG:

JTC
QA:

10/26/2021
DATE:

KAK 6/29/2021

w/ Stabilizer Bar & Extender for Wavetronix 
Sensor, Alum

P
e

lc
o

 A
ss

y.
id

w
  

9
/1

0
/2

0
2

1

Options
Extender Length: 
11",19",36",48",72"
Paint

Example Part No
SP-4156-11-PNC

Process No Color=PNC
Paint=PXX

2.00
n.375 THRU

(2 PLCS)

n.281 THRU
(4 PLCS ON 2" BC)

1-1 1-2 1-3

1-4 1-5

1-6

1-7 1-8

1-9

1-10

1-15

1-11

1-121-131-14

1-16

1-17

 AK-1189-L-PXX

Assy Kit

 

2


